LibreOffice 5.0.2

H w ppm byte persecond 2 Cam 3 cam 4 cam 5 cam 6 cam
[ 6a0 | as0o [ 3,200 [ 15872,000 [ 31,744,000] 47,616,000] 63,488,000] 79,360,000] 95#£32,000] 111,104,00
Cam 1 Cam 2 Cam 3 Cam 4 Cam5 ﬂam 6
Percent of Bandwidy 13%| | 27%] 40%| 54%| 6 81%] 94%|

1 Gigabyte persecond =118,000,000 bytes with Jumbo

80% and under
Between 80% and 90%
3/4Ratio  Width Height Pixels
1,280 960 1,228,800
640 480 307,200

Cameras on 1 port :

H w ppm Byte/Second
1,360 | 1,024 | 1,100 25,531,733
1,360 | 1,024 | 1,100 25,531,733

640 | 480 1,100 5,632,000
640 | 480 1,100 5,632,000
640 | 480 1,100 5,632,000|
640 | 480 1,100 5,632,000|
0|
0|
0

Total bytes 73,591,467 62.37% of port bandwidth

Microsoft Office
Excel 2007

H w ppm bytepersecond  2Cam 3cam 4 cam 5 cam b 7 Cam 8cam
[ o0 [ 4s0 | 3100 | 15872000 | 31,744,000 47,616,000 63,488,000] 79,360,000] /5,232,000 111,104,000] 126,576,000]

cam1 cam2 cam3  cam4 cams5 Cam6  Cam7 cam3s
Percent of Bandwidth | 13% | 27%) 20%] 54%] a7\ 81%

1 Gigabyte per second = 118,000,000 bytes with Jumbo

80% and under
Between 80% and 90%
3/4 Ratio Width Height Pixels
1,280 960 1,228,800
0640 480 307,200
Cameras on 1 port
H w ppm byte per second
640 480 3,700 18,944,000
640 480 3,700 18,944,000
640 4380 3,700 18,544,000
640 180 3,700 18,944,000
0
0
1]
0
0 0.00% of port bandwidth




